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1) In the LDO shown below, assume that R is
very large compared to other resistances in the
circuit. The opamp has a gain A(s) given by
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(a) Determine the signs of the opamp for proper
negative feedback operation. (1 Marks)

(b) What is the dc value of V? (1 Marks)

(c) Perform dominant pole compensation on this
feedback system for a phase margin of 45°, for
maximum possible bandwidth. (4 Marks)

(d) Draw the bode plots of magnitude and phase
for the loop gain before and after compensation,
clearly labelling DC gain, positions of poles and
slopes at various points. (2 Marks)
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2) The output port of a gyrator (with parameter
Gm) is loaded with a voltage source V in series
with an impedance (R+joL). Determine the
equivalent circuit at its input. (6 Marks)
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